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Chapter 2 Identities and Factoriztion

Name: Class: ( ) Date: Teacher:
Level 1 — -

1. (a+b)(a-b)=

2, (a+b)2 =

5. (a-b)’ =
% E_j

1. Prove that the equation 3(2x — 4) = 2(-6 + 3x) is an identity.

2. Determine whether each of the following equations is an identity.

@ +Dx-1)=2x(x+1)+(x-1) (b) 2x(x—1)—-x-5=2x—=5)(x+1)



3. If(Xx=2)(x+5)=x>+Px+ Q, where P and Q are constants, find P and Q.

4. Expand the following.

(@ (x=5)(x+5) (@) (k+3)
(b) (6—Xx)(6+X) (h) (1 +7n)?
© T+»(7-y» (i) (m-8)?
d) (x+7)(2x-7) (G) @p+1)?
(e) (Bx—4)(3x+4) (K) (5m+2n)?

(f) (4x+5y)(4x-5y)



5. Factorize the following expressions.
@ 9c+9d (d) 3kx—9ky— 15kz
(b) —ab-2a (e) 8a’+20ab* —12a
(¢) 3a+2ab-ac () 24x%° — 40x)° — 56x%7°



6. Expand the following.

(@ (Ha-3)(4a+3) (h) (mn—4)(—mn-4)
(b) (~h+3k)@k+h) (i) (=3 -5n)

() 2(Bm-1)(1+3m) () (-8a+5b)?

(d) 3(3x+5y)(3x-5Y) (k) 3(2x -y)

E:)) ga fzyz))((iixbyz)) 0 [x3)

@ 5-2)=5+))



7.  Factorize the following expressions.
(@) 3m’n+m*—3n*—n
(b) 4p*>—3q—2pgq+6p
() —12x* —4xy —18x -6y

8.  Without using a calculator, find the values of the following expressions.
(@) 77>-23° (b) 298 x 302

9. Without using a calculator, find the values of the following expressions.
(a) 205° (b) 472



Level 2

10. Factorize the following expressions.
(@ 2ax+4bx—2cxtay+2by—cy (b) 8ax+ 6bx —4ay —3by + 12a +9b

11.
(@) Expand (x + 3y)°.
(b) Hence, expand (x + 3y — 2)(x + 3y + 2).

12. Expand the following.
(@ Expand (2x + 9y)(2x — 9y).
X 3y

(b) Using the result of (a), expand (2—3)( + 3yj[§ - 7) .



13. If(x +3M)(2x—1)+4 =x(2x —7) + N, where M and N are constants, find M and N.
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7.

EENFT =t+273.15 o #5t=32 » 3K T o

EEAR 0=y y=3>K 0~

g/ N v =u?+2as o v=20 ~ u=10 Frs=15 > K a
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8. FENAX y=kxt+tb-35 y=17~ k=-3 fz b=5>K x-

9. THIEAVEHER BT TH -
(@) K=2pt [p] (b) 5+%=:

10. £y AKX y-c=m6-y) BIEIHE -

[x]
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AT T E PR = AP —E 2% » IERHEE -
A P X
B 7 c Q 7 R Y 2

KPS EHEU = AP R aRAE -
6. /\ABC~ /\LMN 7. ADEF~ ARPQ
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10. {FEH » CDA 1 CEB #\2H45% - 2585 AN\ABC ~ /\DEC »

SIS
11. 12. 13.
14. 15. 16.
13. FEEF » ANABC~ AXZY - K AB f1YZ -
11. FEH » AABC= AEFD o [7IHi—IE L5 A X
; ? /:
)%IEEE ’ 18 cm 12 cm 18 cm
p
A D F
/x B 30 cm ¢ Y “
b 100°
. 1 A. 4AB=12cm> YZ=20cm
B a ¢ 5 B. 4B=12cm> YZ=30cm
A. a=b>p=qg>x=28° C. AB=27cm’ YZ=20cm
B. a=b>p=g>x=52° D. 4B=27cm > YZ=30cm
C. a=p b=q > x=28°
D. a=p>b=q > x=52°

12.

fEEF - APQR= ASTR - FHIH—IEA
—EIEHE ?

T

P
Q & S

A /0=/T

B. ATRS=90°

C. PR=SR

D. OR=ST

14. B4 AABC~ ARQP - AB=10 PQ=

20 fz 5AC = 2RP o NHIE—TE. Ry IEAfE 7
A. BC=8>0R=4

B. BC=8>0R=25

C. BC=50>0R=4

D. BC=50> OR=25
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15. 1£ET > BPC E—{6RE 43

A
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N HIIRrE/ EE A Al LA Ry (A
I.  AABC~APAC

II.  AABC~APBA

. APAC~ APBA

A HEI C. HAIRII
B. HAEIKRII D. I-1I K 1III

16. fE[Ef - AEB ~ BFD #{ CFE &/ H4R °

AD =BE kz CE=BD -
A D

B C
N HIITEY EL R Al h Ry IR 7
. AABD= ABCE
1. AABD~ AFBE
. AADB~ AFBC
A HAI C. HEI
B. 1A I K II D. I 1K1l

17. F£[E > AC B BD MY E - EE41 AD =BC #1 AC=BD -

(a) #EHH AABD= ABAC -
(b) # £ABD=32°> 3K ZDEC -
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18. fE[EH » ADC B—{&E 41 LABC = ZBDC =90° -
(@) =&HH A\ABC~ ABDC -
(b) #&HH BC?=AC x DC -
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4x+y=15 X =3y

X=-2y 4 y=5x-2
Xx+3y-5=0 " |x=y+6




{

X—y=-8
X+y=4

6x=11+y
3x=16-y

{

{

3X+2y=-3
3x—-2y=9

2X—-5y=-12
—-3x+5y=33
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{

b=2a-5
a+b=7

m=2n-1
m=5-2n

. |

2 |

2h+k=3
5h—-k=-24

a=7b+13
6a=7b+8
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e y=7-2X
2 =2y 4

A, x=-6>y=5
B. x=-5>y=6
C. x=5>y=-06
D. x=6>y=-5

(2h-3k=-1

i {3h+2k=—34 °
A h=-9k=-6
B. h=-8:>k=-5
C. h=-7>k=-5
D. h=—6>k=—4
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D. 11
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21. 4
7m—2n+10:0
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KT E T x (Y - [58 7-9 ]
(F2FBmI = i} e o)
7. 8.

36°

62°
X cm
10. K NHIEFHY 6 -
(6% FRAED BRITH0.I0 )
(@) 9tan O=7 (b) %tan 0=6

KNI E P HIRRIE - [55 11-12 ]
11.

12.
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O
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c =
(c) 4tand 2
8
60°
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13. 9-3tan =6 14. 2 cos 0=

tan 30°

15. FIEEES AB B MN FHEE 100 m » EPEE AB (S EE 18 m »
—E&/NENE AB INTEED S EARTRE MN BT » T4 AT
PRAFEAIK 4R AR 16° /4 - 35 MN S B 2%/ 2

100m
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